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NEW QUESTION 1
Given the code fragment:

cLase Peragn {
private Jtzing name;
punlic Pegson!Siecaing name) 4
FrLaE.NAme = Name;
b
Jlesster and gatter metaods go hers
'I.

and
public sratic void mainiftringll args) 4
StreanclistdPecson>> pacltrsam = JStrsan, ol
Lrraye,aslist (new Tsreoni{™Jack"!, new Fergond“Jan="ii.
Rrraye,aslist (new Ferson{™John")),
Arxzaye.aslist(new Fereon(“Too™), new Person("Iim"})

¥
ftraamcPearson> parsons =

parScrean, flatMap (personlisy = personlist.gtraami)|).

persons, foxTachle » Svaten.out.printip.getMame!() | ™ "});
}

What is the result?

A. An exception is thrown at runtime.
B. Jock Jcne

C. Jack jane John Tcm Tim

D. A compilation error occur

Answer: C

NEW QUESTION 2
Given:

clags Parson |
private OSnrlng riratlamea;
private int azlary;
publ_.c PersoniSizraing N, int =al) {
wale.firatName = “N;
wis.malary = gal;
}
public int ge=Falary{} | rztura salary: |
public String g=tFirstNaze() ([ rezurn firstNamcy |
)

and the cede fragment:

Lizst<lerzon> prog = Arrays.aslList|
new Tersen(®s=ith", 1500},
new fersenl(®Jeha™, 2004Q),
new Derson{®“Jze"™, 1002));

vuible JdVel = prog.vlioam()

reallezia > m.yelfissiName () . slaslaWl . B("J"}))
smaEoliolnl {Pezgon: :ge.Salazv)
cdveszage il
welAsDoulled) ;

Sysitem,cul.pcinl(dVal)

What is the result?

A. 2000. 0

B. A compilation error occur
C. 1500.0

D.0O

Answer: C

NEW QUESTION 3
Given the code fragments:
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public class Tastb {

Ligt<Saring> list = null:

public vold printValuas() {

Systam.0us.printigetiat()}:

}

public LI18LCSSring> gatlLliet{}{ return List: )

guinnl void aetlistifigtearriy > Nashist)l{ list = mewllan: |
I
and
Liatd<SEing> li = Arrxaya,asLiat{"Dog"™, "Cat™, “Mouase™);

L = maw Tagt )
L.gablLlacs{ll.etraaml) .Collecs(Sollactora.baliand)) | :
el I

i8%() .TorEach (TestL: tpy LValues) ;

What is the result?

A. DodcatMOUSE

B. [Do

C. Cat, Mouse]

D. null

E. compilation error occur

Answer: D

NEW QUESTION 4
Which code fragment, when inserted at line n1, produces the result fy20°4.txt?

& LI:h
3 report)
s Ey2014.oxi

Given Lhe cude lragment:

EXy |

f7iline =l

files.forkach(Z -> Syszex.cut.pzrint (f.g9ezFileMame |
\ catch [TORxaeption &) |

Systam.MIN.priatinda) ]

A. stream<path> files =Files.find(path

B. get(“"D\\ report”) , (p, a) -> a isRagular File ());
C. stream<path> files = File

D. Wal

E. get(“"D\\ report”);

F. stream<path> files = File

G. Wal

H. get(“"D\ report”), 3, (p, @) -> p.isregularFile()) ;
I. stream<path> files = Files.find(path

J. get(“D\\ report”™\\ry2014.txt")) *

Answer: B

NEW QUESTION 5
Given the code fragment:

Liarn<Ts l.---]t"l‘.".:" flumE = (el & ."1';'? {are>();
aTuma . ada i i0D)
Tums .. adailug)
l/ 1ine nl

Tuma., ¥replacazll ifuniavtl:

ey -

Vetar.cub.printlininase) ;

LT

Which code fragment, when inserted at linenl, enables the code to print (500, 1000)?
A. UnaryOperator<Integger> funintf- n -> n * 5;

B. Function<Integer>funintf -n ->n*5;

C. intFunction funintf =n ->*5; |

D. Consumer <Integer> funintf =n->n*5;

Answer: A

NEW QUESTION 6
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Which is true regarding the jaa.nio.file.Path interface?

A. Implementation of this Interface are nor safe for use by multiple concurrent threads.

B. implementations of this interface arc immutable.

C. The interface extends the watchservice Interface.

D. Paths associated with the default provider are not interoperable with the java.io.File clas

Answer: B

NEW QUESTION 7
Given the code fragment:

'r"jl':'_-'-'- ri1lng, Af Leaers a4k = leN ”-qu_‘r'-l'_,qi--: r A4 W

MID . Comg L& |.-‘ ", :L : | - (VY == nNuUu_.1l) T ) N . : 1 ¥
map.ccuputel{™2®, K, V) > (v = nmull) 2 2 * 3 1 D):
'-':"",h"a"l-' i) TE il"l'fli .Il'l-l .p‘il'li: i e 1] i may. . g |ll: :

What is the result?

A.00
B.14
C. A compilation error occurs.
D.12

Answer: C

NEW QUESTION 8
Given the code fragment?

Lisl<Inleders nuns - Rirsays.asLlo2L(10, <0, 10, 20,

/* ANECArtT cO08 rLracaan= hara ~)
i

Svstem.oub.priaclalb);

=J £ LN

Which two fragments, when inserted independently at line6, enable the code to print true?

. Boolean b = num

. stream ().Nonematch( n ->n == 20) ;

. Boolean b = num

. stream ().filter(n-> n —20).allMatch -> u — 20);
Boolean b = num

. stream ().map(n-> n20).Nonematch( n -> n == 20) ;
. Boolean b = num

. stream ().allMatch -> u — 20);

IOMMmMOOW>»

Answer: BC

NEW QUESTION 9
Given the code fragment:

HH Ans Maat !
Olin ] & Lat 1l ainisSceringl Irge d
Y e T - ] = (=) - T |
-] Ll | - " el -]
.
arFaLEm . OUT . | | L D) et l"'".'-ﬂ_i[r-r-“'l

Which is the valid definition for the crecter interface to enable the code fragment to print ksthy welcome!?

A. public interface greater { Private string greet {string name},)

B. public interface greater <T> { Public static String greep (T , name) ;)

C. public interface greater {Public default String greet{ String name} { Return name;}Public String greet (String name, String salute);)
D. public interface greater { Public String greet(String name) ;)

Answer: D

NEW QUESTION 10

Which statement Is true about the single abstract method of the java.util.function.Function Interface?
A. It accepts an argument and produces a result of any data type.

B. It accepts one argument and returns void.

C. It accepts one argument and always produces a result of the same type as the argument.

D. It accepts one argument and returns boolea

Answer: A
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NEW QUESTION 10

aubm it {Data)
Fiata.alze < SMELL EWNOTGI)
"_'r Al ¥ L)
;n.
- 1
gL<latar» n = (Datal: ¢ ne ¥
for{Data 4 A

And given the missing methods:

process, sukmiz, ond cplitInHalf

A. Inserted submit at line X.

B. Inserted process at line X.
C. Inserted submit at line z.

D. Inserted process at line Y.
E. Inserted process at line Z.
F. Inserted splitTnhalf at line Y.
G. Inserted splitinhalf at line

Answer: BCF

NEW QUESTION 12
Given the interface:

uhlic interface JdFanarabor
AL ganNeXLtidl):

Which class implements idGenerator in a safe manager, so that no threads can get a duplicate id value during concurrent access?

A. public class Generator implements IdGenerator ( Private volatile int Id -0;Public int getNExt Td() | Synchronized (new generator()) { return ++id;}}}
B. public class Generator implements IdGeneretor ( Private int id =0;Public int getNExtld {) { Synchronized (new generator()) { return ++id;}}}

C. public Class Generator implement IdGenerator ( privateAtcmicininteger id - new Atomaticintegger (0); public int getNextld{} {return i

D. Increaseincrasement AndSet{) ;}}

E. public Class Generator implement IdGenerator ( Private int id =0;Public int getNextld { ) { Synchronized (id) ; return ++id}}

F. public Class Generator implement IdGenerator ( Private int id =0;Public int getNextld {) { Synchronized (id) ; return ++id}}}Return ++id;

Answer: C

NEW QUESTION 14
Given the code fragment:

Which code fragment, when inserted at line n1, enables the code to print the could of string elements whose length is greater than three?

A. listvVa

B. Stream(). Filter(x, length {) > 3}. count ()
C. listva

D. Stream().filter(x->

E. length{) > 3.} .mapToint{x -> x). count ()
F. listva

G. Stream().map {x ->

H. length {) >3}. count ()

. listVa

J. Stream().peek [x ->

K. length{} > 3} count (). Get ()

Answer: A

NEW QUESTION 18
Given the code fragment:

D i ars CustomPasdcilree
s F T & SFF 19 POl ety ame
i 1 CuELOMESsSo) Yo [ SR ] fEame)
ragaUurtcaame = nams
Nasauragae mabthods

Which two changes, taken together, enable the use of this class in a try with resources statement?
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A. Add a mothod:Public void close {) ToException {)

B. public class CustomRecource extend Closeable implements AutoCloseable {
C. Add a mothod:Public void autoClose () throws ToException {)

D. Add a methPublic Boolean close() throws Toxception {)

E. public calss customResource implements closeable (

F. public class customResource extends AutoCloseable {

Answer: AF

NEW QUESTION 23
Given the code fragment:

= I - - LD - =4 o |
- =9 | i '-HlH - - 1 b - i = - iz
1 | 3 = - - Ti= = e PR N | P amfaiemi |l
HLLE i B LsiIn ] i (] = |
]
L § 7 - - ey Ruins =110
..... 1 i
rreafd.alasp iloan = o5 Cramantastaei)
g, add(~x™) ;
ol B . AR L
* h % = i -
aw Thrasd S Larl
" ‘I'."I--i-' ! . AL.Aart
e T ey - I
i Thyeasd | [ - I

What is the result?

A. X, X][ X, X, X, X]

B. X[

C. XJ [X, X, X]

D. [X]CX, X][x, X, X][ X,
E. x, X]

F. [x, X]

Answer: A

NEW QUESTION 24
Which two states are valid for a watch key?

A. Ready

B. Not Runnable
C. Runnable

D. Does not Exist
E. Signalled

Answer: AE

NEW QUESTION 25
Given the code fragment:

FeardsbPabh> filag = Fillea,.w=xll

v Fatha..get iSvetem.geLFropariy s "uaar . Doms
fllaa,forFacnh | THax= ' na o

.."

=alll aPath = “Mas=.L{als0] AtsEathd) & L= Yo

Syatam.out,.printiniiName = T

I e, ragdattribusazl{aPath, DazilcFilaanoribuses , o

catch (ZOEX(Ge i -

LA LtaceTraca[l

What is the result?

A. The file s in the home directory are instead along with their attributes.

B. A compilation error occurs at Line n2.

C. A compilation error occurs at Line n1.

D. All files and directories under the home directory are listed along with their attribute

Answer: A

NEW QUESTION 29
Which two codes correctly represent a standard language local code?

A. UB
B. uB
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Answer: CD

NEW QUESTION 32

Which statement Is true about java.util.stream.stream?
A. Streams support aggregate operations.

B. All stream operations are lazy.

C. Objects in streams are intended to be mutable.

D. Streams can be reuse

Answer: A

NEW QUESTION 35

Given:
ek - I Ehis b = (] ]
public
ee.awadizdly
= G, Sul dEEARELG ("HOT RS E e ")
catch ({Exccgtion ox)
clasz Hastzr implemenez Runachls fiipme Tl

and the eede fragment

MeEsEET MesEEE = 8% FasTeEs | F
'/ line ni

Warkoz WaDier — naWw Wazker(chBhq

'n':i.':‘i.'::...'.'.i:'; Lad4
You have been asked to ensure that the run methods of both the worker and Master classes are executed.
Which modification meets the requirement?

A. At line n2, insert cyclicBarrier cb = new cyclicBarrier {2, master} ;
B. At line n2, insert cyclicBarrier cb = new cyclicBarrier {1, master} ;
C. At line n2, insert cyclicBarrier cb = new cyclicBarrier {1) ;

D. At line n2, insert cyclicBarrier cb = new cyclicBarrier{master) ;

Answer: B

NEW QUESTION 38
Given the code fragment:

« . d = i~ -
LS i - - vl ST ng o
public S8CATtles vald maini{Stringl Srgs)
5 * L e
" ] HLE=-1
il ] Wy L= o B
i MMy
CysLam.OuL.priatlni™blas=E™!; Dreak;
FE= "N '
Syebem.out.printlni"NOLL™): Dreax;
fefTaul
"‘;-J'-l.i-ll‘l.. i pr o R s & | .
"
Y
]

What is the result?

A. NULL

B. An exception is thrown at runtime.
C. blank

D. Compilation fails

E. invalid

Answer: B

NEW QUESTION 42

Which two elements must be present in any valid pipeline?

A. a lambda expression or a method reference
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B. o terminal operation

C. one or more Intermediate operations
D. a reduction operation

E. a source

Answer: BE

NEW QUESTION 43
Given the code fragement:

il L gld procagasilial) AYOWE LOEXNCSpL1on, ClasaNotEoundExcean
Ly 'Fillmilamadar TF = Faw F '-ll"-—-ri.l-_'r"l'u-']]'- aEre. LeE®=)
FllaRritay [Ww = naw FllaRrizar{“log-iledesl.LEE™) ]

slasa ¢ = Claas.forRamel{ ™ java: lang.Jorelng™) &

If exceptions occur when closing the Filewriter object and when retrieving the JString class object, which exception object is propagated up to the caller of the

processFile method?

A. Java.lan

B. Exception

C. Java.lan

D. NOSuchClassException
E. Java .j

F. ToException

G. Java.lan

H. classNotFoundException

Answer: D

NEW QUESTION 46

Which three must be used when using the java.util-concurrent package to execute a task that returns a result without blocking?

A. Future

B. Runnable

C. ExecutorService
D. Callable

E. Thread

F. Executor

Answer: ACD
NEW QUESTION 48

Given the definitions of Readable and writable interfaces:
intzrfzcs Readable

public wcid readl);
public £Tatic vaid clesc| Bystom.ouc.peint (™ Closc ")+
[
interfzca Writabls =xtends Rezdekice |
public dafaul: wvoid writz() |
road () ; Lipnt nl
Systam.out.print {("Helecoe™;
Given
CLZZE Canvas implomoants Writiaole / line a2
public wcid read(] | Eyszzcx.cut.print("Helio "};
public ctotic 'void main(String[] args) |
writabla canvasl = nsw Canvasl):
canvacl.®wraitel)q
Writable.clasza(}; f/ line nd

What is the result?

A. Hello welcome close

B. Compilation fails due to an error at Line n2.
C. Compilation foils due to on error at Line n3.
D. Compilation fails due to an error at Line nl..
Answer: A

NEW QUESTION 49
Given:
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import tava,util,concurrens.atomic-AtomicInteger

class Incramantor |
public static vold mainiftring(l aggs} |
atomicInteger[] var = new AtomlcIntegsr([5]:
for {(int L = 0: L < 52 140} {
varfil= new AtomicInteger():
'
for (int L = 0p 1| < warp.length: Lliv} |
var(i].incremantindGes ()
It i = 23
varll].comparsdndfat(Z, 4):
Syatem.out.print(vacfi] 1+ " "};:

|
What is the result?

A.01234
B.01234
C.11111
D.12345

Answer: C

NEW QUESTION 51
Given the code fragment:
public static void main(stringl[] =
m.oft{"oava™, "Cnaix", Lipux"

Etrca ol |
fil=er{s => =.containg("n"))
peck(s -> Bystam.out.println{"oxTEX: " + z£))
fd lime nl
|
A. .allMatch () ;

B. .FindFirst () ;
C. .nonexatch () ;
D. findAny () ;

E. .anyMatch () ;

Answer: BE

NEW QUESTION 53

You are asked to implement an interface that processes a batch of transaction objects and returns a discounted value for each transaction as a double primitive
value.

Which interface can you use to accomplish the task?

A. ToDoubleFunction
B. DoubleConsumer
C. DoubleFunction
D. DoubleSuppLier

Answer: A

NEW QUESTION 54
Given the following incorrect program:

Lags MyTask satends Decurelvalasidl

ow: LCinal int high:
TEOTENOID = [+, ., .4/

=y
S, LA a ko

ivTaskiint low, int higal { thie.low = lowr thiehigh = higar )
Intaegar conmpuralizsctlvll {4 J*.,,*¢ ]
DIY | Rt — T vl R e : |
ik i} ow <= TIRSSELLD
resturn compubabiractlvi)
int »id = {low | highd /7 Z;

i L
nwokenll (new MyTaskilow, mid) . new Mylasgk (mad, hagh)i:

Which two changes the program work correctly?

A. The compute () method must be changed to return an integer result.

B. The TIDESHOLD value be increase so that the overhead of task creation does not dominate the cost of computation.
C. The MyTask class must be modified to extend RecuraivaAction Instaed of RecuresivATAskK.

D. Result must be retrieved from the newly created MyFask instances and combined.

E. The computeDirectly {} method must be enhanced to fork () new created tasks.

F. The midpoint computation must be altered so that it splits the workload in an optimal manne
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Answer: CE

NEW QUESTION 58
Given:
ciaae Dird {
public waid “iyvil) { Syatam.out.print{”Can rIy*}: }
]

claas Panguin axtenda Dird |
public vaild Zly() { Svetap.out.print{"Canasnt [1y“1:; )
}

and the code frogment:

£ Birdic |

public seatic void x=in(strinall argel |
£ly{ () == naw Bizd(});
fly(Fenguin: :new);

|

F* lina nl %)

|

Which code fragment, when instead at Line nl, enables the Birdie class to compile?

A. static void fly (consumer <? Extends Brid Eird} { Bird.accept().fly()?
B. static void fly(consumer>Bird> bird (Bir

C. Accept {} fly {)?}

D. static void fly (supplisr<Bird> bird) ( Bird.get 1). Fly() ;}

E. static void fly (supplier <? extends Bird> bird } { bird.get{) ;}

Answer: B
NEW QUESTION 61

Give the code fragment:

I
!

« ¥4
[
[

1
|
(]
~

What is the result?

OI\)

NEW QUESTION 62
Give the code fragment:

Ligt<string> gwords = Arrave.asListi"why *, "#hat ", “when ™):
Sinaryoparator<firing>» gparator = (gl, 82} > al.ccncat [(82);
tring sen = gwords.strean!)
JEsduce ("Word: ", Gperator)d
Byetex.out.printlin(ean) ?
What is the result?

A. word: why what when

B. word: why word: why what word: why what when
C. Compilation fails.

D. word: why word: what word: when

Answer: A

NEW QUESTION 63
Given the code fragment:
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B public stabic vooLd displaviletallsdl
5. Lry (Dufferedfsader br = rnew Dufferedieader (new Flleleader ("salearaport.daz™ib) 4

String ragard:

3 while (iraferd = bHr.readlimnedl) 1= 2ull)
10, Sysbam.out,. peintintiracord)

1 b

12. hr.clowgal):

12, Hir = new DulfaradRsader ines TileNeadar ("anmn imlrepors.dat™l
14, while {({racord = br.raadlina()} 1= nally ¢
15, Syetam.oub.printlniresord)

15. ¥

17 . | catohiIOEXe=aphion =i

i8. Syetem,arf.printin, gatslaasd) )

19, P

20 |

What is the result, if the filesalesreport. dat does not exist?

A. class Java.ia.|OException

B. Compilation fails at line 6 and 13.
C. class java.i

D. fllenNOIfoundException

E. Compilation fails only at line 6.

F. Compilation fails only at line 13.

Answer: E

NEW QUESTION 65
Given:

Fabh pil = Fatis.gat(“/Plca/MyPLa.Jfag™)

_':1. R T pr ‘: ntln II‘i_ = -_'.a-l'_fq.'-ﬂnﬁ'_d:‘.'.‘ ne I: ]
":* 1 pl.gatMamail)
"+™ ) plogeartFilaNavs )}
Assume that the pics ditrectory does NOT exist.
A. 2:MyPir..jpAg:MyPi
B. jpag
C. 2: pics:Mypic.jpcg
D. 1:Pics:/Pics/MyPic.jpeg
E. An exception is thrown at run tim
Answer: A
NEW QUESTION 66
Given the code fragment:
14, Jfiznsore code hExe
i5 =igt ferntlatdlog ™ naw ArrayListil;
16
12 fontlatalog.add("Alg=rizn"};
1e fontlztzlag.zdd{"Camk=iz"});
i8 fontiotalog.add("Lucida Brigaz");
e0. cascgory.pr={“fairstlatagery™, ZcntCazazog):

Which two code fragments, when Inserted Independently at line 14, enable the code to compile?

A. Map<sString, List<String>> category = new HashMap<>> () ;

B. Mae<String, List<String>> category = new HashMap<String, List<String>> () ;

C. Map<String, List<String>> category = new HashMap<String, ArrayList<String>> () ;
D. Map<String, List<String>> category = new HashMap<List> () ;

E. Map<String, List<String>> category = new HashMap<String, List<>> () ;

F. Map<String, List<String>> category = new HashMap<> () ;

Answer: BF

NEW QUESTION 70
Given the code fragment:
if (avar++ < 100 ¢
Syvstem.out.printlniavar + " Helloc Worldl™);
Foelse |
Svstem.out.println{avar +

rr

Hello Universel ™) ;
i

What is the result if the integer avar is 9?

A. 10 Hello World!
B. Hello Universe!
C. Hello World!

D. Compilation fail
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Answer: A

NEW QUESTION 74
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